Ratio to ATLAS

QQO QeV PP _

Underlying Event

= 1 r T T
<IN > ' ' o\
19 N> density wrtg of leading track(jn| < 2.5, p.>0.5GeV,p_>2Ge\
m ATLAS N
| —A— Pythia 6.428 370 }
1l Pythia 6.428 373 ]
--0-- Pythia 6.428 374 |
B Pythia 6.428 375 a
| --4-- Pythia 6.428 381 _
0.8 |— - ¥-- Pythia 6.428 382 _]

0.6 —
—é%eéﬁg
0.4 — "v,

0.2 — —
L ATLAS 2010 S8894728 _|

_l | | | | | | | | | | | | | | |
:l T T T T | T T T T | T T T | :
2 & =
1 | /.% eé_ V'_’_q; 5 DG A‘ 25 & " §_ Aa s s : _|

VV""' "v'V““"Q"'""‘V"VV"V :’VVVva'%WV
05 |
| " 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " | "
0 1 2 3

left|gright| (w.r.t. leading track) [rad]

Rivet 3.1.0, > 14M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


